	Answer Key to 2.1 – District 2 Practice Questions
	Answer Key to 2.2 District 2 Practice Problems

	1. A

2. A

3. B
4. A

5. B

6. D

7. All have the same number of electrons in the outer shell. 

8. a) Represents the number of energy levels for all atoms of the same period.

          b) Horizontal row of elements on the periodic table.

9. : a) Ne, F-1, O-2, N-3
          b) Cs, Ba, Sr
10. : a)  Al b)  Al, B , C.
	1. C

2. B

3. D

4. Trick Question! It’s A, C, and D!
5. B

6. a) non-metal               

     b) 80                     e) 7

     c) 35                     f) 6
     d) VII; halogen     g) 45


7. a) 39 

     b) 31           e) metal

     c) 5             f) 70

     d) 3             g) III; aluminum  

8. Ionization energies decrease; larger atomic radii decrease nuclei control. Therefore, easier to lose valence electrons.

9.Ionization energies increase; more protons in same number of energy levels; More pull to keep electrons. Therefore, more difficult to lose valence electrons. 

10. I.E. of Na < I.E. of Ne.  Na has three energy levels; Ne has only two.  Na has only one electron in last shell; Ne has full last shell with eight electrons.

11. It is either K, potassium, or RB, rubidium.
12. HAS TO BE  AN ALKALI METAL!
13. H’s need to gain only one electron to become noble-like would force X to have a –1/2 charge; no such ion exits.  HX2 is not possible.


